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| Semester 3 Year LL.B. Examination, December 2018
CRIMINAL LAW - | (Indian Penal Code)

(2018 Batch)

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer all five units.

2. One essay type question and a short note/problems is
compulsory from each Unit.

3. Figures to the right indicate marks.

4. Answer should be written either in English or Kannada
completely.

UNIT - |

Q. No. 1. a) Explain various types of punishments to which offenders are

liable under the Indian Penal Code. Marks : 10

23008603 ToB RBo&30D RN BTN DEBLIBOTDT

AT BINTRY, DeDORD.

OR
Q. No. 1. a) Who are the possible parties to a crime ? Explain. Marks : 10
" 2000 YTOGE, ROLISE0D FIMPOT 3RT ? VWOAD.

Q. No. 1. b) Write short notes on “Mens-Rea”. Marks : 6
“IToIGT WOTRY” [WT Wi T 2368 2980200.
OR
. Q. No. 1. b) Write short notes on “common intention”. Marks : 6
“ QBRI YW Wi} OFO 832058 29B020.

- UNIT =i

Q. No. 2. a) When the right of private defence of the body extends to
-causing death ? Marks : 10
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Q. No. 2.a) Explain the law relating to abatement under Indian Penal

code.
30023 TR Ro&WIONY, 20808 BOREoHN ZoWOPIT TORRTI
DOAD.

Q. No. 2. b) ‘A’ an officer of the court of justice being ordered by the
court to arrest ‘Y’ and after due inquiry, believing ‘Z’ to be P

arrests ‘Z'. Whether ‘A’ has committed any offence ?
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OR

Q. No. 2. b) ‘A’ doctor In good faith communicates to a patient that he
cannot live, the patient dies in consequences of shock.

What is the liability of ‘A’ ? Decide.
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UNIT — il

Q. No. 3. a) Explain the circumstances under which culpable homicide
amounts to murder.
sToIRT JTHE, O3RT BoTPFNTE, FRSCERMIZT QOWITI,
DORD.

OR

Q. No. 3. a) Explain the offence of criminal force and assault.
90008 weFcdRen D03y YL Crvlontataiavy 2SO0,

Q. No. 3. b) ‘A’ builds a wall across a path along which ‘B’ has a right
_ of way. ‘B’ is there by prevented from passing. What is the
offence committed by ‘A’ ? Give reasons.
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Q. No. 3. b) ‘A’ with the intention of causing the death of a child of tender
years exposes it in a desert place. But the death of the child
does not ensue. Whether ‘A’ has committed any offence ? Marks : 6

DTAL JODAT WO BT a’adsaa{dgtow DRBLIeFow
NTEBROT ‘A’ B BTN IRFS TTESTY, D), WIS, ST
& TUOVT & TN T LYVOERTLRAY, ‘A’ & BRYTHT3R
OTOG BRBTFDE ?

UNIT - IV

Q. No. 4. a) What is criminal misappropriation of property ? How does it differ from
criminal breach of trust ? ' Marks : 10

R8T OTOIRT TONFRCIREN 0BT 7 T 03RS Dedodd),
SRVoIQT ToVF meﬁgos RFNG ?

OR

Q. No. 4. a) Explain cheating. When does it became cheating by
personation ? Marks : 10

SOLFONTY WBOWD. BT cIRTN WERWFEE Tedk
BWOWRYTIONZE 9

Q. No. 4. b) ‘A’ cuts down a tree on ‘B’ s land dishonestly without ‘B’s
consent. Decide the offence of ‘A’s. Marks : 6
B'od ededeodex’ wrmpmneiten ‘A odn B'od 3edooddios
RO, BRIV, ‘A’ SRBTID Eﬁﬁ@t}ﬁﬁd& SR IRD.
OR

Q. No. 4. b) ‘A’ took away an unmarried gifl who was under — 16 years out
~ of custody and against the will of her father. Decide what type
of offence ‘A’ committed ? Give reasons. Marks : 6

‘A’ 030 16 ITFBRINS 900e3083 aﬁxéoﬁaﬁ:aaigi 3803 3oT50
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UNIT -V
Q. No. 5. a) What is defamation ? Explain its ingredients. Marks : 10
BRTTD NOTTER 7 LTT N3 e&ozﬁﬁ#;&gt DTORD.

OR

Q. No. 5. a) Explain the essentials of “criminal trespass and house

trespass”. Marks : 10
STVOIRT 98B0 a&aéa_ﬁ @méﬁmw B30T aﬁdqgﬁ @Oéﬁ%‘fﬁi
QDRORD.

Q. No. 5. b) ‘A’ breaks open a box to steal some jewels. After opening the
box he finds that there are no jewels in it. What is ‘A’ s liability ? Marks : 6

A D BOR) SITLNT BV TRET STIEBOOT 2,003 Fe3rR00I)
ovielnvliciefevovtpint ﬁ%ﬁoﬁaaﬁi 300 J08T WT0Y SLTLDVT[)
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OR

Q. No. 5. b) Write a short notes on ‘Bigamy’'. Marks : 6
QBEZ,/ DZSZT Wil OO E8TEI WIOWO.
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